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EMRS TGT Practice Set  
 

Q1. What is Exercise INIOCHOS-23, recently in news?  
(a) A multi-national air exercise  
(b) A naval exercise in the Mediterranean Sea  
(c) An anti-piracy exercise in the Arabian Sea  
(d) An anti-terrorism exercise in the Indian Ocean 
 
Q2. Who will be felicitated with the Lata Deenanath 
Mangeshkar Award on April 24?  
(a) Asha Bhosle  
(b) Lata Mangeshkar  
(c) Narendra Modi  
(d) Deenanath Mangeshkar 
 
Q3. When is National Civil Services Day observed in 
India every year to honor the contributions of officers 
who work for the nation's public service departments?  
(a) April 21  
(b) March 15  
(c) May 1  
(d) July 4 
 
Q4. What is 'Tau se Poochho', which has been 
launched by the Haryana Parivar Pehchan Authority 
along with two other online services?  
(a) A government rest house booking service 
(b) A WhatsApp chatbot 
(c) A pension service for the physically challenged  
(d) An online identity verification service 
 
Q5. What was the retail inflation rate (based on CPI) 
in April 2023, according to the data released by the 
National Statistical Office (NSO)? 
(a) 3.84%  
(b) 4.70%  
(c) 4.79%  
(d) 8.31% 
 
Q6. Who has been appointed as the new Director of 
the Central Bureau of Investigation (CBI)? 
(a) Praveen Sood  
(b) Subodh Jaiswal  
(c) Vikas Vaibhav  
(d) Ajit Doval 
 
Q7. Which one has least literary rate? 
(a) Arunachal Pradesh 
(b) Bihar 
(c) Jharkhand 
(d) Nagaland 
 

Q8. What is Nagastra, which has been developed by 

Solar Industries Nagpur?  

(a) India's first indigenous loitering munition  

(b) A long-range missile system  

(c) A next-generation tank  

(d) A new type of unmanned aerial vehicle (UAV) 

 

Q9. Binomial nomenclature was introduced by–  

(a) Linnaeus  

(b) Huxley  

(c) Devies  

(d) John Roy 

 

Q10. Which of the following caused radioactive 

pollution along the coast of Kerala? 

(a) Plutonium 

(b) Zinc 

(c) Thorium 

(d) Radium 

 

Q11. Identify the one which is different from others. 

(a) P L Q B  

(b) Z M C B  

(c) A I U O  

(d) F T X S 

 

Q12. Identify the one which is different from others. 

(a) Delight 

(b) Blithe  

(c) Anxious  

(d) Merry 
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Q13. Select the related word from the given 

alternatives. 

Cancer : Oncology : : Ants :  

(a) Entomology 

(b) Myrmecology 

(c) Mycology 

(d) Glaciology 

 

Q14. Select the related numbers from the given 

alternatives. 

11 : 120 : : 10 : 

(a) 99  

(b) 200  

(c) 119  

(d) 81 

 

Q15. In the following questions, select the missing 

number from the given options. 

3, 7, 17, 35, 63, ? 

(a) 96  

(b) 103 

(c) 45  

(d) 115 

 

Q16. Radha walks 5 km North then turns left and 

walks 8 kms. She then walks south 5 km. Then she 

turns left 10 km and stops. How far is she from the 

point she started. 

(a) 3√2 km  

(b) 2 km 

(c) 13 km  

(d) 5 km 

 

Q17. The family of five members has only one female 

in it. ‘Iyer’ is son of ‘Jethalal’, Babitaji is daughter of 

‘Tappu’ who has a son and a daughter. If ‘Champak’ is 

grandson of ‘Tappu’ and ‘Babitaji’ has only one child. 

How is ‘Iyer’ related to ‘Champak’.  

(a) Brother  

(b) Cousin 

(c) Father  

(d) Grandfather 

 

Q18. Find out which of the diagrams given in the 

alternatives correctly represents the relationship 

stated in the question. 

Mango, Alphonsos, Fruits 

(a)  

 
(b) 

 
(c)  

 
(d) 

 
 

Q19. In a coding system PEN is written as NZO and 

BARK as CTSL. How can we write PRANK in that 

coding system? 

(a) NZTOL  

(b) CSTZN 

(c) NSTOL  

(d) NTSLO 

 

Q20. In a code language, 123 means ‘hot filtered 

coffee’, 356 means ‘very hot day’, 589 means ‘day and 

night’. Which numerical stands for ‘very’? 

(a) 5  

(b) 6 

(c) 8  

(d) 9 

 

Q21. Which type of error can be find out by a 

compiler? 

(a) Syntax error 

(b) Semantics error 

(c) Logical error 

(d) Execution error 
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Q22. __________ ensures secure transfer of data over an 

unsecured network, such as the Internet. 

(a) Antivirus 

(b) Hacking 

(c) Cracking  

(d) Cryptography 

 

Q23. Which can read data and convert them to a form 

that a computer can use? 

(a) Logic 

(b) Control 

(c) Output device 

(d) Input device 

 

Q24. Which of the following is most important or 

powerful computer in a typical network? 

(a) desktop 

(b) network server 

(c) network client 

(d) network station 

 

Q25. Which of the following appropriately relates 

with starting up an operating system?  

(a) Starting  

(b) Entering  

(c) Formatting  

(d) Booting  

 

Q26. What is a Firewall in Computer Network?  

(a) The physical boundary of Network  

(b) An operating System of Computer Network  

(c) A system designed to prevent unauthorized access  

(d) A web browsing Software 

 

Q27. A type of instruction that can produce several 

lines of machine language code is called a ______. 

(a) Mnemonic  

(b) Address  

(c) Macro  

(d) Assemble  

 

Q28. Word processing, spreadsheet, and photo-

editing are examples of which type of software? 

(a) Application software 

(b) System software 

(c) Operating system software 

(d) Platform software 

 

Q29. The difference between people with access to 
computers and the Internet and those without this 
access is known as the: 
(a) digital divide 
(b) Internet divide 
(c) Web divide 
(d) broadband divide 
 
Q30.Which of the following kind of devices allows the 
user to add components and capabilities to a 
computer system? 
(a) System boards  
(b) Storage devices 
(c) Input devices 
(d) Expansion slots 
 
Q31. Which of the following statements is proposed in 
National Education Policy 2020? 
(a) Being educated in one's mother tongue is 
detrimental to educational and technological 
advancements. 
(b) Schools should encourage children to learn and 
speak English as their first language. 
(c) Multilingualism has great cognitive benefits for 
young students. 
(d) Bilingual approach confuses students and 
hampers learning. 
 
Q32. As per National education policy 2020, education 
must- 
(i) Be focused only on predetermined content 
(ii) Focus on problem solving. 
(iii) Develop critical thinking among learners. 
(iv) Be inquiry driven and discovery –oriented. 
(a) (ii) (iii) (iv) 
(b) (i) (ii) (iii) 
(c) (i) (ii) (iv) 
(d) (i) (ii) (iii) (iv) 
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Q33. Regarding leadership, which statement is false? 

(a) Leadership does not necessarily take place within 

a hierarchical structure of an organization 

(b) When people operate as leaders their role is 

always clearly established and defined  

(c) Not every leader is a creative  

(d) Not every leader is a manager  

 

Q34. Which of the following practices promotes 

inclusion in the context of children with disabilities? 

i. Barrier free access 

ii. Assistive devices and appropriate technology- 

based tools 

iii. Choice of regular or special schooling as well as 

home – based education 

iv. Uniform structured curriculum and means of 

assessment 

(a) (i) (ii) (iii) 

(b) (i) (ii) (iv) 

(c) (i) (iii) (iv) 

(d) (ii) (iii) (iv) 

 

Q35. Which of the following teaching-learning 

material will benefit inclusion of students with visual 

impairment? 

(a) hand written notes 

(b) pictures and diagrams 

(c) maps and globe 

(d) audio tapes 

 

Q36. The brainstorming model of teaching is used to 

improve which of the following? 

(a) Understanding 

(b) Application 

(c) Creativity 

(d) Problem-solving 

 

Q37. Which of the following statements is not correct 

about Audio-visual aids? 

(a)audio-visual aids are those sensory objects or 

images that initiate or stimulate and reinforce 

learning 

(b)audio-visual aids those aids that help in completing 

the triangular process of learning i.e. motivation, 

classification and stimulation 

(c)audio-visual aids are things with whose help the 

learning process may be encouraged or carried on 

through the sense of hearing on the sense of sight  

(d)None of the above 

 

Q38. Inclusion of students with orthopedic challenges 
requires - 
(a) Standardized curriculum 
(b) Infrastructural Accessibility 
(c) Rigid attitudes of authority 
(d) Placement in special school 
 
Q39. Dyslexia is generally categorised as : 
(a) Spectrum of learning disorders 
(b) Mild mental retardation 
(c) Spectrum of psycho-social disorders 
(d) Common motor disability in childhood 
 
Q40. Leadership for learning framework does not 
include-  
(a)Creating conflict  
(b)Evidence-based planning and supervision  
(c)Academic supervision  
(d)Developing a learning culture 
 

निर्दशे:(41-45) दर्दए गए गद्यांश को पढ़कर निम्ननिनित प्रश्नों के 

उत्तर र्दीनिए। 

िो िोग अपिी असफितयओं के निए यय िीवि में गनतरोध के 

निए हयियतों को निम्मेर्दयर ठहरयते हैं, वे िोग यय तो िगत हैं यय 

हयियत से डरते हैं। वे यय तो िीवि को समझ िहीं पयए यय उिझिों 

में फँसे हुए हैं। वे यय तो आिसी हैं यय अकममण्य हैं। एक कयरण और 

भी हो सकतय है दक उिकी िीयत और िीनत में मेि ि हो। यह अनत 

आवश्यक ह ैदक िीयत और िीनत र्दोिों एक सूत्र में नपरोई हुई हों 

अर्यमत् मेि ियती हों। ऐसय कर्दयनप सांभव िहीं है और िीयत 

मयिनसक इच्छय है, िो िोटी भी हो सकती है और िरी भी। िोटी 

िीयत वयिय व्यनि कर्दयनप इस सांसयर में िहीं टटक सकतय और यदर्द 

टटकेगय, तो बहुत कम समय के निए, केवि तब तक, िब तक उसकी 

िीयत िुिकर सयमिे िहीं आती, क्योंदक िीनत की िििी िीयत है 

और िब िििी में ही र्दोष है, तो सांतयि में कोई - ि - कोई नवकृनत 

अवश्य आ ियएगी।  

हयियतों को असफितय के निए निम्मरे्दयरी ठहरयिय ठीक िहीं 

िगतय, क्योंदक हयियत तो उिके सयर् भी वही होत ेहैं यय िगभग 

वही होते हैं, िो सफितय प्रयप्त करते हैं। यदर्द कोई व्यनि अपिी 

असफितयओं की निम्मेर्दयरी िुर्द िहीं िे सकतय, तो वह अपिी 

सफितय की निम्मरे्दयरी िेिे के कयनबि िहीं है। िीवि कय असिी 

आिांर्द तो तभी है, िब पटरनथर्नतययँ नवषम हों।  

 

Q41. दकस तरह के िोगों की िीयत और िीनत में मेि िहीं रहतय 

है? 

(a) अकममण्य व आिसी िोग  

(b) हयियत को निम्मेर्दयर ठहरयि ेवयिे िोग  

(c) िीवि को ि समझि ेवयिे िोग  

(d) उपरोि सभी  
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Q42. िोटी िीयत वयिय व्यनि इस सांसयर में क्यों िहीं टटक पयतय? 

(a) अवगुणों के कयरण  

(b) समय अभयव के कयरण 

(c) गित िीयत यय िीनत के कयरण  

(d) अर्दयरतय के कयरण  

 

Q43. असफितय के निए दकसे निम्मरे्दयर ठहरयिय ठीक िहीं मयिय 

गयय ह?ै 

(a) ईश्वर को  

(b) प्रकृनत को  

(c) हयियतों को  

(d) कयनबि व्यनि को  

 

Q44. िेिक ि ेिीनत की िििी दकसे कहय है? 

(a) व्यवहयर को  

(b) िीयत को  

(c) समय को  

(d) सोच को  

 

Q45. िीवि कय असिी आिांर्द कब नमितय है? 

(a) उत्सवों में  

(b) नमत्रों के सयर्  

(c) िनुशयों में  

(d) नवषम पटरनथर्नतयों में  

 

Q46. ‘चयरँ्दिी कय पययमयवयची शब्र्द िहीं है- 

(a) चांद्रयतप  

(b) मयांक  

(c) ज्योत्नय  

(d) कौमरु्दी  

 

Q47. अशुद्ध वतमिी वयिे शब्र्द कय चयि कीनिए-  

(a) पयरिौदकक  

(b) निशे्चष्ठ  

(c) टटप्पणी  

(d) आशीवयमर्द  

 

Q48. ‘त्ययज्य’ कय नविोम शब्र्द है-  

(a) अियहूत  

(b) कृपण  

(c) धृष्ट  

(d) ग्रयह्य 

 

Q49. ‘उधो कय िेिय ि मयधो को र्देिय’, मुहयवरे कय अर्म है-  

(a) सबसे अिग रहिय  

(b) भनि भयव स ेर्दरू रहिय  

(c) नहसयब सयफ रििय  

(d) अपिे कयम स ेकयम  

 

Q50. ‘ि तीि में ि तेरह में’ िोकोनि कय अर्म है-  

(a) सांख्यय में बहुत कम होिय  

(b) ि अनधक होिय ि ही कम होिय  

(c) महत्वहीि होिय  

(d) आिसी होिय  

 
Directions (51-55): Read the following passage 
carefully and choose the most appropriate answer 
to the question out of the four alternatives.  
The Budget’s thrust on giving a growth stimulus to 
the economy along with ensuring fiscal prudence is 
commendable. It did well to stick to the fiscal rectitude 
path underlined by the Interim Budget by targeting 
the fiscal deficit at 3.3% of GDP for 2019-20, a 
reduction by 10 basis points over the revised figure of 
2018-19. This fiscal math will be challenging to 
achieve but the Finance Minister has kept open 
several levers for revenue mobilization. These include 
an aggressive target for PSE disinvestment of ₹1.05 
lakh crore as well as monetization from existing assets 
of the government. Innovative financial instruments 
will also be used to achieve the government’s aim of 
making investments in infrastructure to ₹100 lakh 
crore over the next five years. 
Taking cognizance of the fact that investments provide 
the foundation for scaling up growth to 8%, the 
Budget announced several ground-breaking measures 
to revive investments in the economy, especially in the 
infrastructure sector, such as carrying out a 
comprehensive restructuring of the National Highway 
Programme, creation of a National Highways Grid 
among others. In addition, measures such as the 
opening of sectors such as Insurance Intermediaries 
to 100% FDI and proposing to ease the FDI limits in 
other sectors as well, are likely to improve the 
availability of capital for investment purposes. 
Recognising the role of the corporate sector in 
contributing to India’s growth journey, the Budget did 
well to bring all companies having turnover up to 
₹400 crores under the 25% corporate tax rate ambit 
from the erstwhile limit of ₹250 crores. This is a good 
beginning and is expected to provide a fillip to the 
corporate sector earnings which could be ploughed 
back in investments. 
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Q51. How does the Finance Minister aim to maintain 

the revenue mobilisation? 

(a) Aggressive target for PSE disinvestment of 1.05 

lakh crore 

(b) Increase in corporate tax 

(c) Monetisation from existing assets 

(d) Both (a) and (c) 

 

Q52. What was the earlier limit of turnover for 

companies to fall under 25% corporate tax category? 

(a) 400 crore 

(b) 250 crore 

(c) 100 crore 

(d) 150 crore  

 

Q53. What does the word ‘cognizance’ mean? 

(a) Awareness 

(b) Ignorance 

(c) Appearance 

(d) Expertise 

 

Q54. Which sector has been opened to 100% FDI? 

(a) National Highways Grid 

(b) Insurance Intermediaries 

(c) National Highway Programme 

(d) Both (a) and (c) 

 

Q55. What is the fiscal deficit target for 2019-20? 

(a) 8% of GDP 

(b) 3.33% of GDP 

(c) 3.3% of GDP 

(d) 25%of GDP 

 

Direction (56-57): Identify the segment in the 

sentence, which contains the grammatical error. 

 

Q56. This fruit tastes more sweetly than any other 

fruit. 

(a) This fruit tastes 

(b) more sweetly than 

(c) any other fruit 

(d) No error 

 

Q57. The Australian team (1)/ losed the match (2)/ 
yesterday (3)/. No error (4) 
(a) 1 
(b) 2 
(c) 3 
(d) 4 
 
Q58. Choose the correct meaning of the given idiom or 
phrase  
An old head on young shoulders 
(a) At risk and insecure 
(b) Better relations 
(c) A child or young person who thinks and talks like 
an older and experienced person 
(d) Puzzled or confused 
 
Q59. Choose the correct alternative and fill in the 
blanks in the following sentence: 
How long have you and Ruchi known __________? 
(a) one another 
(b) each other 
(c) everyone 
(d) None of these 
 
Q60. Select the synonym of the given word. 
DETRACTOR 
(a) devotees 
(b) reviewers 
(c) critics 
(d) admirers 
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Solutions 
 

S1. Ans.(a) 

Sol. Exercise INIOCHOS-23 is a multi-national air 

exercise that will be hosted by the Hellenic Air Force 

at the Andravida Air Base in Greece from April 24 to 

May 4, 2023.  

• Other participating nations include Cyprus, Italy, 

Jordan, Saudi Arabia, Slovenia, Spain, Austria, and 

the USA.  

• The aim of the exercise is to enhance international 

cooperation among the participating nations. 

 

S2. Ans.(a) 

Sol. Legendary singer Asha Bhosle will be felicitated 

with the Lata Deenanath Mangeshkar award on April 

24, which is the Memorial Day of theatre-music 

veteran Deenanath Mangeshkar. 

• The family and the trust have instituted the award 

in memory of Lata Mangeshkar, who died on 

February 6, 2022. 

• Prime Minister Narendra Modi was the first 

recipient of the award. 

 

S3. Ans.(a) 

Sol. National Civil Services Day is observed every year 

on April 21 in India to honor the contributions of the 

officers who work for the nation's numerous public 

service departments.  

• On this day, the Prime Minister of India awards 

officers from the central and state governments 

for their outstanding contributions to public 

administration.  

• On April 21, 1947, Sardar Vallabh Bhai Patel 

(Home Minister) gave a speech to the first group 

of civil servants in Independent India at the 

Metcalf House. 

 

S4. Ans.(b) 

Sol. 'Tau se Poochho' is a WhatsApp chatbot that has 

been created by the Haryana Parivar Pehchan 

Authority as one of the three online services launched 

by Haryana Chief Minister Manohar Lal Khattar to 

digitally empower people.  

• The chatbot aims to provide assistance to citizens 

in accessing government services and addressing 

their grievances. 

 

S5. Ans.(b) 

Sol. According to the data released by the National 

Statistical Office (NSO), the retail inflation rate (based 

on CPI) in April 2023 was 4.70%. This figure 

represents the year-on-year change in the Consumer 

Price Index (CPI) for that particular month. 

• The Government has mandated the Reserve Bank 

of India (RBI) to maintain retail inflation at 4% 

with a margin of 2% on either side. 

 

S6. Ans.(a) 

Sol. Praveen Sood, a 1986 batch IPS officer and the 

current Karnataka DGP, has been appointed as the 

new Director of the Central Bureau of Investigation 

(CBI). He will replace the current CBI Director, Subodh 

Jaiswal, who is set to retire on May 25, 2023. 

• He also served as the Deputy Commissioner of 

Police (DCP) in Bengaluru before becoming the 

Karnataka DGP 

 

S7. Ans.(b) 

Sol. 

Bihar- 63.82% literacy rate 

Andhra Pradesh- 66.95% 

 

S8. Ans.(a) 

Sol.  Nagastra is India's first indigenous loitering 

munition, which has been developed by Economics 

Explosives Ltd (EEL), a 100% subsidiary of Solar 

Industries Nagpur, in association with Z-Motion, 

Bangalore.  

• Recently, Solar Industries Nagpur has been 

awarded an order to supply Nagastra to the Indian 

Army, beating competitors from Israel and Poland. 

• Nagastra is capable of striking enemy targets with 

precision and has an indigenous content of more 

than 75%. 

 

S9. Ans.(a) 

Sol. The adoption by biologists of a system of strictly 

binomial nomenclature is due to Swedish botanist and 

physician name Carl Linnaeus. 

 

S10. Ans.(c) 

Sol. Thorium causes radioactive pollution along the 

coast of Kerala. 
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S11. Ans.(c) 

Sol. All others are consonants. 

 

S12. Ans.(c) 

Sol. All others are synonyms. 

 

S13. Ans.(b) 

Sol. Study of Ants is called Myrmecology. 

 

S14. Ans.(a) 

Sol. 112 = 121 – 1 = 120 

 102 = 100 – 1 = 99 

 

S15. Ans.(b) 

Sol.  

 
 

S16. Ans.(b) 

Sol.  

 
 

S17. Ans.(b) 

Sol.  

 
 

S18. Ans.(b) 

 

S19. Ans.(c) 

Sol. after identifying the code P-N, R-S, A-T, N-O, K-L. 

 

S20. Ans.(b) 

Sol. Code for very is 6. 

 

S21. Ans.(a) 
Sol. a syntax error is an error in the syntax of a 
sequence of characters or tokens that is intended to be 
written in a particular programming language. For 
compiled languages, syntax errors are detected at 
compile-time. A program will not compile until all 
syntax errors are corrected. 
 
S22. Ans.(d) 
Sol. In cryptography, data are sent in such a way that 
they look completely different from the original data. 
Thus, cryptography ensures secure transfer of data 
over an unsecured network. 
 
S23. Ans.(d) 
Sol. Input device can read data and convert them to a 
form that a computer can use. 
 
S24. Ans.(b) 
Sol. A network server is a computer designed to act as 
central repository and help in providing various 
resources like hardware access, disk space, printer 
access, etc., to other computers in the network.  
 
S25. Ans. (d) 
Sol. Booting is a startup sequence that starts the 
operating system of a computer when it is turned on. 
A boot sequence is the initial set of operations that the 
computer performs when it is switched on. Every 
computer has a boot sequence. 
 
S26. Ans.(c) 
Sol. Firewall in Computer Network is a system 
designed to prevent unauthorized access. 
 
S27. Ans.(c)  
Sol. A Macro instruction is a line of computer program 
coding that results in one or more lines of program 
coding in the target programming language, sets 
variables for use by other statements, etc. 
 
S28. Ans.(a) 
Sol. Application software is a term which is used for 
software created for a specific purpose. It is generally 
a program or collection of programs used by end 
users. 
 
S29. Ans.(a) 
Sol.  Digital divide is the gap between those who have 
already access to computers and the Internet, and 
those who do not. 
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S30. Ans. (d)  
Sol. Expansion slots allows user to add devices. 
 
S31. Ans (c) 
Sol.  The statement which is proposed in National 
Educational Policy 2020 is that Multilingualism has 
great cognitive benefits for young students. 
Multilingualism is the use of more than one language, 
either by an individual speaker or by a group of 
speakers. 
 
S32. Ans.(a) 
Sol. As per National Education Policy 2020, education 
must: 
➢ Be aligned with the aspirational goals of the 21st 

century. 
➢ Develop good human beings capable of rational 

thought and action. 
➢ Be inquiry-driven, discovery-oriented, learner-

centered, discussion-based, flexible, and, of 
course, enjoyable. 

➢ Focus on problem-solving, critical thinking, 
scientific temper, and creative imagination, with 
sound ethical moorings and values. 

➢ Adopt experiential learning including hands-on 
learning, arts-integrated and sports-integrated 
education, story-telling-based pedagogy, etc. 

 
S33. Ans.(b) 
Sol. Regarding leadership, this is false that when 
people operate as leaders their role is always clearly 
established and defined. When people operate as 
leaders their role is always clearly established. 
Leadership does not necessarily take place within a 
hierarchical structure of an organization.  
 
S34. Ans.(a) 

Sol. A uniform structured curriculum is a 

standardized or generalized curriculum that is applied 

to all the students which are irrelevant because all the 

students have different abilities and disabilities. 

 

S35. Ans.(d) 

Sol. Teaching Material for Visual Impaired Learners: 

Using appropriate teaching-learning materials is vital 

for children with visual impairment. Some of the 

common teaching-learning materials available in the 

market for educating children with visual impairment 

are Braille, tactile globe, Audio cassettes, Screen 

reading software, etc. 

 

S36. Ans.(c) 

Sol. Model of teaching refers to a way of teaching 

students do learn facts, concepts, skills, and analysis of 

values and also to enable them to use the strategies 

suggested by each model and develop particular ways 

of thinking. 

Brainstorming Model of Teaching 

• ‘Brainstorming’ was founded by Alex F. Osborn as 

a brilliant counter-attack on negative conference 

thinking. 

• The purpose of brainstorming is to accumulate 

alternatives for any problem. 

 

S37. Ans.(d) 

Sol. Audiovisual aids are supplementary devices by 

which the teacher, through the utilisation of more than 

one sensory channel, is able to clarify, establish and 

correlate concepts, interpretations and appreciations. 

 

S38. Ans.(b) 

Sol.  Inclusion of students with orthopedic challenges 

requires Infrastructural Accessibility. Access to 

infrastructure is the means as well as the opportunity 

to use the basic physical and organizational structures 

required for the operation of society. Infrastructures 

are a country or region's large-scale public system, 

services, and facilities that are necessary for 

commerce and social activity.  

 

S39. Ans.(a) 

Sol.  Dyslexia is generally categorized as a Spectrum of 

learning disorders. Dyslexia is a reading disorder, 

different people are affected to different degrees, 

problems may include difficulties in spelling words, 

reading quickly, writing words, etc. 
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S40. Ans.(a) 
Sol. The Leadership of the learning framework does 
not include creating conflict. It includes evidence-
based planning and supervision, academic 
supervision, and developing a learning culture.  
 
S41. Ans.(d) 

Sol. उपरोि सभी गद्यांश के अिसुयर िो िोग िीवि के गनतरोध 

के निए हयियत को निम्मरे्दयर ठहरयते हैं, िीवि को समझ िहीं पयते 

तर्य आिसी व अकममण्य होते हैं, उि िोगों की िीयत और िीनत में 

मेि िहीं रहतय है। 

 
S42. Ans.(c) 

Sol. गित िीयत यय िीनत के कयरण िोटी िीयत वयिय व्यनि इस 

सांसयर में गित िीयत यय िीनत के कयरण िहीं टटक पयतय है क्योंदक 

िब उस तक उसकी िीयत सही िहीं होगी तब तक समयि मे 

ंांउसकय कोई थर्यि िहीं होगय। 

 
S43. Ans.(c) 

Sol. हयियतों को असफितयओं के निए हयियतों को निम्मेर्दयर 

ठहरयिय ठीक िहीं है, हयियत तो उसके निए भी वहीं होते हैं िो 

सफितय प्रयप्त करते हैं। 

 
S44. Ans.(b) 

Sol. िीयत को िेिक ि ेिीनत की िििी िीयत को कहय है। िब 

िििी (िीयत) में ही र्दोष होगय तो सांतयि (िीनत) में कोई ि कोई 

नवकृनत अवश्य आ ियएगी। 

 
S45. Ans.(d) 

Sol. नवषम पटरनथर्नतयों म ेगद्यांश की अांनतम पांनि में थपष्ट रूप 

से कहय गयय ह ैदक िीवि कय असिी आिांर्द तब है िब पटरनथर्नतयय ँ

नवषम हों। नवषम पटरनथर्नतयों में व्यि की वयथतनवक पहचयि 

होती हैं| 

 
S46. Ans. (b)  

Sol. ‘चयरँ्दिी’ के पययमयवयची शब्र्द हैं- कौमुर्दी, ज्योत्नय, चांदद्रकय, 

िुन्हयई, िोन्ह। 

 
S47. Ans. (b)  

Sol. शब्र्द की शुद्ध वतमिी है- निशे्चष्ट।  

 
S48. Ans. (d) 

Sol. ‘त्ययज्य’ कय नविोम शब्र्द ‘ग्रयह्य’ है।           

 

S49. Ans. (d)  

Sol. ‘उधो कय िेिय ि मयधो को र्देिय’, मुहयवरे कय अर्म है- ‘अपिे 

कयम स ेकयम’।  

 

S50. Ans.(c) 

Sol. ‘ि तीि में ि तेरह में’ िोकोनि कय अर्म है- महत्वहीि होिय।  

 

S51. Ans(d) 

Sol. Refer to the 5th line of 1st paragraph where it says 

“This fiscal math will be challenging to achieve but the 

Finance Minister has kept open several levers for 

revenue mobilisation. These include an aggressive 

target for PSE disinvestment of ₹1.05 lakh crore as 

well as monetisation from existing assets of the 

government”. Hence option (d) is the correct choice. 

 

S52. Ans(b) 

Sol. Refer to “the Budget did well to bring all 

companies having turnover up to ₹400 crore under 

the 25% corporate tax rate ambit from the erstwhile 

limit of ₹250 crore”. 

 

S53. Ans(a) 

Sol. ‘Cognizance’ means knowledge or awareness. 

 

S54. Ans.(b) 

Sol. Refer to “In addition, measures such as opening of 

sectors such as Insurance Intermediaries to 100% FDI 

and proposing to ease the FDI limits in other sectors 

as well, are likely to improve the availability of capital 

for investment purpose”. Hence option (b). 

 

S55. Ans.(c) 

Sol. Refer to 2nd line of 1st para, “ It did well to stick to 

the fiscal rectitude path underlined by the Interim 

Budget by targeting the fiscal deficit at 3.3% of GDP for 

2019-20, a reduction by 10 basis points over the 

revised figure of 2018-19”. Hence option (c) is correct. 
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S56. Ans.(b) 

Sol. Use ‘sweeter’ in place of ‘more sweetly’. 

 

S57. Ans.(b)  

Sol. Change ‘losed’ into ‘lost’. The correct V2 and V3 

forms of ‘lose’ is ‘lost’. And, yesterday/ago takes 

simple past with it rather than past perfect. 

 

S58. Ans.(c) 

Sol. An old head on a young shoulder means a child or 

young person who thinks and talks like an older and 

experienced person. 

 

S59. Ans.(b) 

Sol. The correct answer is "each other." In the given 

sentence, we are discussing the duration of a mutual 

acquaintance between the speaker and Ruchi.  

The phrase "known each other" implies a reciprocal 

relationship of familiarity and interaction between 

two individuals. The phrase "each other" is used to 

indicate mutual action or relationship between two or 

more subjects. It is the appropriate choice in this 

context to convey that both the speaker and Ruchi are 

acquainted with each other. 

Therefore, the correct sentence is: "How long have you 

and Ruchi known each other?" 

 

S60. Ans.(c) 

Sol. A detractor means someone who criticizes 

something or someone, often unfairly. 

A critic is a person who expresses an unfavorable 

opinion of something. 
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